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H K & Riic. 24 Ao () | AD () Al D X £ L0724 AL (8) AO (#) A (@D
s i BT 1,704 1,933 2,099 4,032 EE—TH 258 362 406 768
2 Iy < ] 233 210 225 435 | EE—=TH 182 300 288 588
6 BT 15 13 17 30 | EE=TH 213 330 303 633
| AR—TH 215 168 251 419 EEHETE 116 172 162 334
AR =TH 298 219 294 513 | HiE—TH 211 235 271 506
AR=TH 240 184 264 448 FEU—TH 438 526 577 1,103
$ARET 374 318 402 720 HEW=TH 274 372 397 769
7 AR AT 526 436 565 1,001 | BER-—TH 2 2 0 2
| [ BT 487 483 516 999 EER_-TH 0 0 0 0
AGRHT 550 596 660 1,256 EFLi 2,872 3,724 4,205 7,929
+ 4 5 TRl 94 87 122 209 L 6,376 7,498 8,372 15,870
EIX—TH 401 331 418 749 | &t A Hp 2,732 2,664 3,043 5,707
EII-TH 420 349 480 829 | B8 ) P BE T 1,774 1,972 2,123 4,095
EI=TH 467 508 560 1,068 | &=y 2,062 2,128 2,266 4,394
<-4 B BT 72 77 88 165 | R 5 ot e BT 55 58 62 120
| +%—TH 257 247 292 539 | B % 685 3¢ ] 91 81 101 182
+%—TH 180 177 226 403 A & 41 35 T 211 235 253 488
b - 41 217 180 217 397 | K] & vp g T 2,176 2,696 2,817 5,513
7 -+ B AT 211 183 233 416 | 5 &K I 379 385 435 820
3§ B BT 111 89 127 216 K 5 B By 1,492 1,850 1,899 3,749
75 9 7 AT 245 204 302 506 | K& AT 362 372 414 786
| HE—TH 387 396 422 818 | B B ¥ 3T T 358 401 430 831
| FiE_TH 162 146 172 318 E=EL 3,788 4,364 4,821 9,185
] 429 468 543 1,011 2 gt 62,993 | 71,973 | 79,366 | 151,339
iF i BT 290 320 342 662 iR AE 63,005 | 72,043 | 79,410 | 151,453
| 35 b BT 225 260 264 524 Bl A 31 -12 -70 44 ~114
= F P T 423 391 458 849 62,774 | 72,480 | 79,969 | 152,449
X0 387 448 482 930 RISEZE 511 ek 219 -507 -603 | -1,110
HILAL 401 387 431 818
o BT 342 396 447 843
F W HT 332 311 399 710
| AL 407 410 493 903
H .68 Ay 426 457 484 941
% FIfy 484 570 657 1,227
=t iE L 458 389 488 877
bR LI 554 594 734 1,328
| BBRE¥E—TH 388 371 427 798
| EEE_TH 624 618 640 1,258
| AT H 340 347 388 735
| ERE_TH 337 408 407 815
o B 5k BT 451 473 566 1,039
75 B >k BT 398 436 477 913
EEL 107 109 126 235
| kAT 224 268 288 556
P4 iy 809 1,074 1,146 2,220
ET0 3,620 4,189 4,425 8,614
A Ly [ BT 503 507 595 1,102
% ) Ay 3,436 4,395 4,623 9,018
A EHT 969 1,267 1,320 2,587
| R 627 678 804 1,482
i) L 638 - 890 948 1,838
KT i 4,254 5,423 5,689 | 11,112
=L 369 292 384 676
K11 1,478 1,828 2,068 3,896
51 3 ] 3,957 4,716 5,205 9,921
HEN 18 22 21 43




